2

Y, =a +3 ¥n LPOP,/POP,

Y

LPOP'
POP

a

B
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1980 0.44 0.72 0.67
1985 0.51 0.79 0.74
1990 0.61 0.93 0.87
1995 0.65 1.12 1.03
1980 1999
1980 1999
1980 1999
1980 ,1985 ,1990
,1995 ,2000
1980 704 2,878 3,582 2,009 9.697] 11.706 632 3,668 4,300
1981 711 2,915 3,626 2,018 9,772 11,790 661 3,837 4,497
1982 718 2,952 3,670 2,027 9.846] 11,873 690 4,008 4,698
1983 724 2,989 3,713 2,035 9,918] 11,954 717 4,164 4,881
1984 731 3,025 3,756 2,043 9,988] 12,031 743 4,317 5,061
1985 737 3,061 3,798 2,050] 10,055] 12,105 794 4,441 5,235
1986 745 3,109 3,854 2,053] 10,113} 12,166 820 4,588 5,408
1987 752 3,156 3,909 2,056] 10,168] 12,224 845 4,727 5,572
1988 760 3,203 3,963 2,058) 10,216] 12,275 876 4,867 5,742
1989 767 3,249 4,015 2,059] 10,261] 12,321 902 5,014 5,916
1990 773 3,294 4,067 2,059] 10,302] 12,361 926 5,164 6,091
1991 783 3,348 4,131 2,059] 10,345] 12,404 954 5,301 6,255
1992 793 3,402 4,195 2,059] 10,386] 12,445 975 5,442 6,417
1993 802 3,455 4,257 2,058) 10,419] 12,476 992 5,577 6,570
1994 811 3,507 4,319 2,055] 10,448] 12,503 1,006 5,715 6,721
1995 822 3,568 4,390 2,057) 10,500] 12,557 1,022 5,834 6,856
1996 836 3,617 4,453 2,063] 10,523] 12,586 1,045 5,943 6,987
1997 849 3,667 4,516 2,070] 10,547] 12,617 1,065 6,062 7,127
1998 863 3,716 4,579 2,077] 10,572] 12,649 1,082 6,192 7,273
1999 877 3,766 4,643 2,081] 10,587] 12,669 1,098 6,281 7,379
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0.47]  (27.07) 1.18 (15.22)
0.97] _(64.70) 1.79 (31.56)
20 20
0.97 0.92
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In(Y,(t)) =a 1xDUM 90 +a 2 xDUM

Y, ()
DUM90
DUM95
DUM99
HGRP, (1)
POP, (1)
a B

t
1990 =1,
1995 =1,
1999 =1,
t
t

95 +a 3xDUM 99 +B  Xn( HGRP (1)) +B , xPOP (t)

i
=0)
=0)
=0)

1990,1995,1999
1990,1995,1999
GRP 1990,1995,1999 H7
2001
1990 3.00 1227
1995 3.13 12.87
1999 3.27 1349
0.66 12.37
-0.00008 -5.19
-052 -491
-0.22 -2.42
141
2 0.796
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